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" Question No. 01

- Ay-a) - Explain how-the free-market mechanism may fail to allocate resources efficiently when;
‘ i.  Firm pollutes the environment in the process of production.
ii. Carrying out a vaccination programme against Covid 19 pandemic.

b) Would the above situations cause over or under allocation of resources? How could the
. government.intervene in improving the market. efficiency? Explain using illustrations.
(07 Marks)

B) Using the knowledge in the “Concept of Elagticity” answer the following, where possible use
tllustrations to explain your answer. :
1. Why may the larger. crop yiclds reduce the farmer revenite?
ii. Why some economists argue that legahzatlon of hard drugs like heroin is the best .
solution to control drug related problems? * : ! (08 Marks)

C) “Coefficients of income elasticity of demand prévide insights into the economy”. Taking the

conditions created by the Covid pandemic into con31derat10n explain the relevance of the
- -given slatement: <o - «05 Marks) ™

Question No. 02

A) 1. Using illustrations describe how profits and losses in the short run drive the long run

adjustment process of Pure Competition. (07 Marks)
. How would the long run equilibrium in Pure Competition produce economic efficiency?
Explain, (04 Marks)

B) 1. Where would the profit maximizing Monopolist choosc its price quantity combination, in
the elastic or inelastic region of its demand curve? Explain using illustrations. (04 Marks)

Compare dlld connast the econoniic (,ff(,cts of Monopoly and Pure Competition.
: (05 Mir lcs)
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Question No. 03
A) “The product variety and improvements dchieved under Monopolistic Competition may .

gr eatly reduce the efﬂ01ency loss dssomatcd with its long rnum equilibrium™ Do you agree?
Explain. ' (08 Marks)

B)  “Innon-Collusive Oligopolistic industries prices are generally stable.” Using an appropriate
market model explain ' whether you-agree with the above staterment-~ - - * (06 Marks)

C) In order to maximize profit, firms in Oligopoly markets tend to collude. What are the
obstacles for such cillusive behavior? Explain. (06 Marks)

Question No. 04

A) i. Why is it not possible for a country to have lower nominal tate of interest, whensitis
~experiencing very high rate of inflation? , - ] (04 Marks) ' .

it. Interest rates are the critical prices that,determine the level of productlve mvestment yet
“why the investors may not respond posmvely to Jower rate of interest, under. = :
recessionary conditions?:: e .
- ‘Suppose-the economy'is’ boommg, would themnvestors respond neoatively to higher rate

of mterest‘? Explain taking condltlons created by C0v1d pandemic as an example.
: . . (07 Marks)

B) a) Why is the Demand for money curve has a'negative slope? Explain. = - (03 Marks)
b} Providing relevant illustrations cxplain the impact of following changes on the™ -
equilibrium rate of interest in the market.
i. Through open market operations Central Bank sells government bonds and securities to
the public.
+ i1 Extremely higher rate of inflation prevails in the country.

iii. Economy contracts and there has been a decline in people’s income.
(06 Marks)

Question No. 05

A) What factors make the Aggregate Demand (AD) curve negatively slopped? Explain.
(03 Marks)

B) When the budget deficit is higher, the governments tend to increase both direct-and indirect
taxes to enhance its revenue.

1. Using Aggregate Demand and Aggregate Supply framework critically analyze demand and
- =supply side-tmpact-of higher taxation. ~{06 Marks)
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ii. How would the higher budget deficit at present affect the future economic growth of a

country?
Do the revenuc for higher hudget deficit, for examp]e lowel ‘taxes, higher pubh(, spending

on education/health-ete. matter? Lxplain. ...~ . 0 ‘ 5 . (06 Marks)

)} Using AD/AS framework explain how the following changes affect the average price level and
the real oufput in an economy. Use illustrations to explain your answer.
i. There has. been a shal p 1NCrease. in thc p11(,e of 1mported mpu‘[s necessary for local

production.

ii. There has been a sharp increase in the amount ofimports. , (OSMarks) _

-Question No. 06

A) i. What are the underlying reasons that bring benefit to the countries when engaged in
international trade, in other words, what is the economic basis of international trade?
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...... . (04 Marks)
B) Inspite of the benefits of trade, courtries tend to erect both visible and invisible barriersto
free trade.
1. Whatis meant by 1nv151ble trade barrlels? Explam with examples (9—4 Miifks)

i1. Using lllustrations analyze the economlc 1mpact of “Tal 1ffs” and “Quotas (06 Mafk-s)'_}-:

C) Critically analyze the relevance of most frequently cited arguments in favour of
protectionism. . . (06 Marks)

Question No. 07

. A) It is necessary.for the exchange rate system of a country to be robust. Which system is more

robust, Is it the “Fixed” or the “Flexible” exchange rate system? Explain. (03 Marks)

B) Under floating exchange rate mechanism, how would the Sri Lankan rupee bebave against
U.S.A. dollar, when;
i.  The rate of interest in Sti Lanka is higher than that of U.S.A.
ii. The rate of inflation in Sri Lanka is higher than that of U.S.A.
iii. The government of Sri Lanka imposes strict restrictions on imports from other countries.
(09 Marks)

C) One method of tackling the higher trade deficit is o allow the domestic éurrency, to
depreciate. How effective is the said policy in reducing the deficit? What are the problems
. sagsociated-with such:policymeasure?Explaintaking the.cconemy-of.Srilanka as an

. example. . {08 Marks)
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